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The proposed text (25.106) however raises the following additions :

Out of band gain (section 6.2) : ACLR is outside the scope of the Spec 25.106 (out of gain band is preferred)). M. Kummetz (mikom) says off-line :

"(begin)With regard to the mentioned ACLR we have to take into consideration the

physics of our 2-way amplifier. Assuming a repeater with 90dB gain and a noise figure of 5dB, we would have at the output -12dBm in a bandwidth of 4.7MHz which is equivalent to the effective 3dB bandwidth of the WCDMA signal. This is without any input signal just have the basic laws of

physics. Assuming an output power of 30dBm of the WCDMA signal the noise would

represent an adjacent channel power of 42dBc which remains constant over the

complete operating band of the repeater. This collision is the reason why we think the initial purpose behind the ACLR cannot be met for a repeater.(end)"

In this example, take

    - Pout = 31 dBm (to align with the smallest BS power class), the greater output powers are easier to tackle,

    - Gain = 88 dB

 this leads to 12 + 31 + (90-88) = 45 dBc which meets the equivalent BTS specs.

Therefore, how can you guarantee, with the out of band gain clause,  the same UE behavior and overall system performance when it receives a channel N from a Node B simultaneously with a repeater emitting at channels N+/- 1 ? 

We would prefer an ACLR clause unless out-of-band gain spec can address this issue. Please propose target values.

Output spectrum mask : we agree with having only 2 WCDMA carriers to simplify test set-up. However, in the 15MHz minimum band (note 1) we do not see why you do perform test to first and third only.

We do not see indeed why a test with first and second (or with any combination of two channels of the operating band) is not included.  The only involded complexity is little test automation.

See proposal below

Definition of operating bandwidth :

 I am  puzzled with what you call the operating bandwidth:

- Suppose a frequency planning of 12 channels numbered no 1 to 12

- Suppose the repeater repeats channels 1, 3, 5, 6, 7 at  the exclusion of any other channel :

Then how should we interpret the definition of the operating band ? :

Interpretation #1 : 

- there are 3 operating bands : 

operating band 1 is channel 1

operating band 2 is channel 3

operating band 3 is channels 5, 6 and 7 (consecutive)

then channel 4 is outside the operating band and should fulfill the (3.5- 7.5) mask limits.

interpretation #2 :

- there is one single operating band of all channels.

then channel 4 is inside the operating band and does not fulfill the mask !

Anyway, the spectrum mask shall be fulfilled for channel 4, which it is not clear as the specification 6.3, Unwanted emission, reads.

Therefore, we propose the following changes :

Section 3.1 :

Operating band
The operating band is the sum of the 5 MHz nominal channels which are operated by the repeater in any operational configuration. These channels may be consecutive or individual. All 5 MHz nominal channels that are not operated by the repeater in any operational configuration are outside the operating band.


Section 6.3.1.1 :

NOTE 1:
If the operating band corresponds to three or more nominal 5 MHz channels, the requirement shall be met with WCDMA modulated signals in the channels corresponding to any combination of  2 channels in any operational configuration .

